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I. Determine the resistance between terminals A and B in the circuit below
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2 Determine the values of resistances R, and R, in the network below such that l[iand I

jas}

re equal to 4A and 6A respectively.

a. Ri=00Q, R7=11.6 0
: RI=10Q, R2=53 Q2

& RI=0Q,R2=5Q

d.  RI=I0Q,R2=116Q 0oV |,

&, none of the above T

(8]

The op amp in the circuit below is ideal. Calculate V,,.

a. 10V

b. -18V

ol -14V P

d. 12V o A/

=3 none of the above = ] e

]
e
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4. Find V, in the circuit shown if V,= 0.1V and V, = 0.25V.
Y Y e —
SKx | L50K I
i T
b v Va T
: i SR Gl = i
é £ RS K. ] ' 8 NI ROt o
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e, none of the above @V i
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5. The four arms of a Wheatstone bridge have the following resistances:

o

AB=100Q,BC=10Q,CD=4Q, DA =500Q.

A 20 Q resistance is connected across BD. Compute the Thevenin voltage between terminals
B-D when a potential difference of 10V is maintained across AC.

s
a. ~0.168 V
b. ~0.741 V
% ~0.554 V
d. ~0.909 vV i
-y none of the above i i

l oV

6. In problem 5, find the current flowing through the 20 Q resistance between terminals B-D

a. ~0 mA
b. ~4mA
& ~3 mA
d. ~5SmA
e. none of the above
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7 Calculate the value of R which will absorb maximum power from the circuit shown
below. Also compute the value of this power. Jo

5, - s
al. 3 Q, 720W 2oV -
b. 10/3 , 270W R é
¢. 100, 1800W - R ? 5 :
d. 10/3 ©Q, 1080W :
e. none of the above i
8. Find the Thevenin voltage Vry shown in the circuit below

in
a. 3.87V
Bz J67TV
s 1.45V
d. 5.62V
e. none of the above (@ gg_n_' 2}2 v.“,
s
9 A network excited only by current sources is shown below. Determine the voltage at
Node I 5‘&
R
L 2
i % T

a. 18.65V JoA i g
b. 2643V = =
c. 3133V @\ L n 62
i 22.35V
g, none of the above -

10. In problem 9, find the current through the 2 Q resistance.

al -0.856A

b. -SA

o -1.350A

d. -0.588A

e. none of the above

4/5
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1T For the circuit below, find the voltage V.
4.3 n &

ke e I il Wi

b. 60V : IE m

c. 50V ‘ - g o

d 70V 5a ”‘?‘ V 3o lo

- i ; Jr

e. none of the above 1 ' !
] ; i i
" e i ‘
" i | |

12. In problem 11, find the power delivered to the circuit by the current source.

a. 400W
b. 300W
G 200W
d. S500W
e. none of the above

513
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